



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{2}{3} + \frac{1}{5}\right)^2 =$$

$$\left(\frac{3}{2} + \frac{1}{6}\right)^2 - \frac{2}{3}\left(\frac{3}{2} - \frac{3}{4}\right) =$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{1}{3} \times \frac{1}{4} - 4^2 =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{3} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{6}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \frac{3}{4}\right) =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{3}{2}\right)^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{3}{2}\right) \times \frac{3}{2} + \left(\frac{2}{5} - \frac{1}{4}\right)^2 =$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{4}\right) \times \frac{1}{3} + \left(\frac{1}{6} - \frac{3}{5}\right)^2 =$$

$$\left(\frac{1}{3} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{2}{3}\right)^2 =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{2}{3} + \frac{1}{5}\right)^2 = \frac{137}{450}$$

$$\left(\frac{3}{2} + \frac{1}{6}\right)^2 - \frac{2}{3}\left(\frac{3}{2} - \frac{3}{4}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{1}{3} \times \frac{1}{4} - 4^2 = \left(-\frac{229}{18}\right) = \left(-12\frac{13}{18}\right)$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{3} + \frac{3}{4}\right)^2 = \left(-\frac{427}{360}\right) = \left(-1\frac{67}{360}\right)$$

$$\left(\frac{2}{5} - \frac{1}{6}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \frac{3}{4}\right) = \frac{1043}{1800}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{3}{2}\right)^2 = \left(-\frac{529}{900}\right)$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{3}{2}\right) \times \frac{3}{2} + \left(\frac{2}{5} - \frac{1}{4}\right)^2 = \frac{3527}{1200} = 2\frac{1127}{1200}$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{4}\right) \times \frac{1}{3} + \left(\frac{1}{6} - \frac{3}{5}\right)^2 = \frac{769}{900}$$

$$\left(\frac{1}{3} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{1}{2}\right)^2 = \frac{139}{4500}$$

$$\left(\frac{1}{2} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{2}{3}\right)^2 = \frac{71}{288}$$